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3amauda Neo 1.

CamoAaeT a0 B3AeTa ABHIKETCS IIO IIOAOCE C
V=216 km/4. Macca camoaeTa 30 T.
KakoBa 2Hepruss camoaeTa?

aHo: CHU AnP
m=30T =3*10*kr| T pBmxetca => Ek
V=2}6 kM/4 =60 m/C m-v’ 3'1O4K2'(60M/C)2
HaunTtu: E, = = F, =
E =? 2 2
‘ =1,5-10"-36-10% =48-10° /[oic = 48 M/ e

Otger: £ =4383M/ic
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3amada Ne 2.

CamoaeT maccoH 30 T NOAHAACSA BEPTHKAABHO

BBEepX Ha BbIcOTy 10 km. KakoBa 3Heprusa
camoaeTa?

[aHo: CU AunP
m=30T =3*10*kr| T Ha BbICcOTE => E
g=10 H/kr E.=m-g-h=
h=10 KM =1-10*M i
Haittu: E,=3-10"k2-10—-10* m =
E :? K

M

=3-10" Jore =3000M e
OteeTE; =3000M /o
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3amadga Ne 3.
CamoaeT maccoH 30 T AeTHT Ha BbIcOoTe 10 XM co

cKopocThio v=216 km/4. KakoBa 2Heprus
camoaeTa?

aHo: CHU \ AuP E=E, +E,
m=30T =3*10" Kkr E, = m-v’ F 3-10*ke - (60Mm/c)’
v=216 KM/4 |[=60 M/C f")’v 2 ¢ 2
g=10 H/kr h —1,5-10*-36-10% = 48-10° Jorc = 48MJJorc
. S E.=m-g-h=
Haitu: nome .
E=? = E,=310"%2-10—-10% % =3-10" [Jorc =
K2
= 3000M/[oc

E = 3000M/Toie + 48 MToie = 3048 M/ Toic
OTBeT: £ =3048M/c



